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V] Semester B.Com. Examination, May/June - 2019

COMMERCE

6.5 : Elective Paper - III - Performance Management

(CBCS) (Freshers+Repeaters - 2017-18 & onwards)

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written in English or in Kannada.

oeert — ©/SECTION - A

1. oimmwentne 5 ZJAUR ww3ds. B TP 2 WOINSC.

- - L
Answer any 5 questions. Each guestion carries 2 marks.
(a) ™0 PggeR ROWTET ?
W ;

What is target costing ?

(b) BEPWET SPICT WYWAT VOF SROEODT, FRA.
o =% 4
Give the meaning of activity based costing.

(¢) = 3d Do 2OTWBLR 7
&

What is Break Even Point ?

aL
o=

(d) o3 Sgzen QOWTI W, Qe T RedT 7
What do you mean by standard costing ?

(e) wouwweY _ monY DomEmne Bt 3omERoNN0 9
How do you calculate Debt - Equity Ratio ?

() wooesi Hdod wErLmoRodEYy 3RR.
Give the meaning of Transfer Price.

(g) WOS BohBVED HOWTER 7
o

What is Flexible Budget ?

5x2=10

P.T.O.
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fgen - W/SECTION - B
IRPwense 3 T3 nen wgdk. T8 I It 6 wogres.
Answer any 3 questions. Each question carries 6 marks.

TR T

3x6=18

AOCTTIOOT wauam :neb WERWLE S0 wz‘.aam.: SN :::m%iaia &2

o

State the dlffcrencc bctwcen Traditional costmg arrd Activi

_____ ity based costing.

s BUNT SRBECVOT
() B Sy aiSm

(b) 3= &3 = DIOW T
(c) Tz mabﬁdt-— = FCRNYRY, ToR L0
&= ﬂo&Snt.:b 4000
as‘a"“’ "’obﬁn‘ y 5000
% BeITT < 3 & ricedn

f
ENDISEN ﬁm@cﬁtﬁ ¥ 250 B rictdn
Using the following information, calculate :
(a) Labour Cost Variance
(b) Labour Rate Variance
(c) Labour Efficiency Variance

Standard hours 4000
Actual hours 3000
Standard wage rate < 3 per hour

Actual wage rate < 2.50 per hour

B NS BR&IN® otk o3 TowoTTS

- e

w00 ¢3S T chweas T 100
WRTT F B e T 80

Yol a"’o&iﬁ%ﬁ 3 3.00,000
FOTL RN

(a) ReDYS Work cheriETe :__; 3_39 BRZTY,

(b) auo* BeY IS DOLIZ, 4000 BRI
30mBAD,

The following information relates to a firm

Selling price per unit < 100
Variable cost per unit T 80
Fixed cost ¥ 3,00,000
Find out.

(a) BEP in units and in amount

nen =83 e Sooek ¢

f. £}
&8

(b) Find out selling price per unit if BEP is brought down te 4000 units.
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8,000 cErawEnie =5 3:;:unc\nﬁ

lessnier)
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o chweRern {)
140
50
40
20
10
26
14

10
310

GS-471

The expenses budgeted for producuon of 10, OOO units in a factory is furnished

below :
Elements of cost Cost per unit (%)
Materials 140
Labour 50
Variable overheads 40
Fixed overheads (¥ 2,00,000) 20
Variable expenses (direct) 10
Selling expenses (10% fixed) 26
Distribution expenses (20% fixed) 14
Administration expenses & 1,00.000) fixed for all level 10

310
Prepare a budget for the production of 8,000 units.
TONT TRLENVOT P wWows T oW EOND.

3

(a) &00¢H ST HY, 90,000
(b) oo M ) 3,00,000
(c) TRBPFNE OLRNT W, 2,00,000
(d) oho3HY wmoed B 4,00,000
(6] FFBT W, ﬁ“&ié :3?% 1,15,000
() ==Y ®F poEoodlF ®Wig 1,50,000
J’“’ DowEd 65305(1%‘33 2 )
[:) Doed sPedny :033& 50
[ii) =RINY Ho, 200
(iii) Foowdha Bekreny Ko, 5,00,000
(iv) "'5'3?1 5 ﬁssﬁﬁ 4,000
(v) SIEcindtw domony Bok, 100
(vi) A2RNNY A 2 IO 0 S00

P.T.O.
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From the following calculate cost driver rate :

4
(a) Purchase order cost . 90,000
(b) Material set up cost 3,00,000
{c) Product packing cost 2,00,000
(d) Machine testing cost 4.00,000

(e) Maintenance and cleaning cost 1,15,000
(f) Material handling cost 1,50,000
Cost allocation basis are -

(i)  Number of purchase order 50
(i) Number of setup 200
(iii) No. of packaged packed 5,00,000
(iv)] Number of Test 4,000
(v) No. of batch run 100
(vi} No. of time materials handled 500

wPon — 4/SECTION - C
IRFHwTTe 3 FIReA wIor. =3 =37 14 wosnsh. 3x14=42

Answer any 3 questions. Each question carries 14 marks,

L]

—F

e e : 3 o
LOTD TSmO 2 [AFRYY & 2¢20m HITAYD. 20,
? <

il

NwD 31.3.18 31.3.19
@IoT0Ed T 16,20,000 < 18,00,000
G % 36,000 < 90,000
BORELBCIO
(a) CoG-mRoSR ToTioe
(b) 20 B3

& o
(c) T6,00,000 cpgnesen femnds mnoes: = e
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An Industry Reports the following Information for 2 consecutive years

Particulars 31.,3.18 31.3.1¢
Sales 16,20,000 18,00,000
Profit 36,000 90,000

Calculate :

(a) P/V Ratio

(b) Fixed cost

(c) Sales to earn a profit of X 6,00,000

(d) BEP in amount

(e) Margin of safety at a profit of ¥ 1.44,000
(fy  Profit when sales are T 20,00.000

{g) Variable cost for 2 years

8  1-4-2019 Jotd 3oWRoR mIUoR® 5%t 32,000 Dae-mes® 2019 © SHDOT

3 Son¥ SNk RwoNE TPW, BoIETE H INT Webdnymy, dedTend

Sonish EAVELepLR LORT: 2RO wougned

®) &

230 70,000 44 000 6,000 5,000
R 80,000 56,000 9,000 6,000
e 96,000 9,000 7,000
e 1,00,000 68.000 11,000 9,000
BT 1,20,000 62,000 14,000 9,000

32T ISR
(a) Begmedte 2
(b) =oook3T 25% Ust mnte TRTTE TN TRRI0N 1 30nY mOT LRG JEWESINS.
(c) BRSO DB HPYNe TS SCST 1 Sonw.

(d) w=é v T 28,000 coocl Stiickim:, wrd 2019 3 SnxodY mBERTAD,

P.T.O.
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A manufacturing company is expecting to have ¥ 32,000 cash in hand on
1.4.19 and it requested you to prepare a cash budget for 3 monihs April to
June 19. The following information is supplied to you.

Months Sales Purchases Wages Expenses
®) ®)

February 70,000" 44,000 6,000 3,000

March 80,000 26,000 9,000 6,000

April 96.000 60,000 9.000 7,000

May 1,00,000 68,000 11,000 9,000

June 1,20,000 62,000 14,000 9,000

Other Informations :
(a) Period of credit allowed by supplier is 2 months.

(b) 25% of sales are for cash and the period credit allowed to customer
is one month.

(¢) Delay in payment of wages and cxpenscs is one month
(d) Income tax ¥ 28,000 is to be paid in June 2019,

9. 20T TTHROLRT 0ZrE Houw WP
0% TRBFRw A T40 ©3 wor
60% Teegernied BT 30 I8 wad
WIEORY 10% T, Bwmee S5 ABEIFTIN,.

TMEIT VTS 230 LI

¥ 20edE HRUNPOT oy MDA RBODAYRY, T LRWE.
The standard cost of a certain in chemical mixture is :
40% materials A at T 40 per ton

60% materials B at ¥ 30 per ton

A standard loss of 10% is expected in production. Actual cost of materials
used is :

90 Tons of materials A at a cost of T 42 per ton
160 Tons of materials B at a cost of T 23 per ton
Actual output is 230 ions.

Calculate all material variances.
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10. omd maprdchd 10,000 chadiny muond WBPERN Irieoss .'ﬁagrﬁ*fc‘\i:q at

ﬁ:’oéiﬁ 3

TS 0DRALA (I
ORI - 70
ZTRO 25
WTTRNYES wddeen wedred 20
osbees sdrsh ] 1,00,000) 10
¢330 ﬁ:’éﬁ@a (Fg3) 5
=Rk dygnth (10% A49) 13 70
DT B (20% 4,9) 7
BEPE dPne [ 50,000) 5
) @ B3 ohedEn 155
8,000 odwelez W 6,000 0BT 3Rk ﬁéﬁ&'ﬁg{ SRODT Boond mgﬁa’ng__
SOIRON BB TS cheFT sz SRR, AT Aeedd, =10
‘The expenses for budgeted production of 10,000 units in a factory are
given below :

Per unit (%)
Materials 70
Labour 25
Variable overhead 20
Fixed overhead (X 1.00.000) 10
Variable expenses (direct) S
Selling expenses [10% fixed) 13
Distribution expenses (20% fixed) 7
Administration expenses X 50,000) 5
Total Cost per unit _I_E
Prepare a budget for production of (2) 8,000 units (b} 6,000 units and
(c) Indicate cost per unit at both the levels.

1. (a) =ox=c J‘ﬁﬁmid WTBAW SR ?
(b) ™0 FdzoAT mosnys ), ST
(a) What ;re:{he objectives of Environmental Accounting ?
(b) State the steps in larget costing.
~-00o0-
P.T.O.




